

$$\log_{mn}^m = \frac{\log_n^m}{\log_n^{mn}} = \frac{a}{\log_n^n + \log_n^m} = \frac{a}{1+a}$$

11, 2

(2)

$$\log_{mn}^{mr} = \log_{mn}^{mn} + \log_{mn}^m = 1 + \frac{a}{1+a} \Rightarrow \left[1 + \frac{a}{1+a}\right] = 1 \quad \checkmark$$

الف) $x > 0$

$$\frac{x}{\log_{\frac{1}{r}} x} \geq 0 \quad \log_{\frac{1}{r}} x > 0 \quad x < 1$$

(2) - 2

$$D_f = (0, 1) \quad \checkmark$$

ب) $x^r - x - r > 0$

$$\frac{-1 \pm r}{+1 - 1} \quad x^r - 1 > 0 \quad D_f = (-\infty, -1) \cup (r, +\infty) \quad \checkmark$$

$$x^r > 1$$

$$x > 1$$

$$x < -1$$

(2) - 3

$$r \log_a^a + \log_a^r = r$$

$$\log_a^a + \log_a^r = r$$

$$t + \frac{1}{t} = r$$

$$t^r - rt + 1 = 0$$

$$(t-1)^r = 0$$

$$t=1 \quad \log_a^a = 1 \quad \boxed{a=r} \quad \checkmark$$

$$\log_{\frac{a}{c}}^a = \log_{10}^a - \log_7^r - \log_3^r = 1 - 0,7 = 0,3$$

$$\log_9^a = r \log_3^r = 0,8$$

$$\log_{12}^a = \log_{10}^a + \log_3^r - \log_7^r = 1 + 0,8 - 0,9 = 1,1$$

$$0,3x^r + 0,8x - 1 = 0$$

$$x=1 \quad x = -\frac{11}{3} \quad 1 + \frac{11}{c} = \frac{17}{c} \quad \checkmark$$

(2) - 4

$$\log_{17}^{10} = \frac{\log_{17}^{10}}{\log_{17}^{17}} = \frac{\log_7^r + \log_3^a}{\log_7^r + \log_3^r} = \frac{1+r}{1+r,8} = \frac{r}{c,8} = \frac{c,0}{c,8} = \frac{10}{19} \quad \checkmark$$

(2) - 5

$$\log_{12}^r = \frac{\log_{12}^r}{\log_{12}^{12}} = \frac{\log_3^c + \log_7^r}{\log_3^c + \log_7^a} = \frac{1 + \frac{a}{r}}{1 + \frac{c}{r}} = \frac{\frac{12}{r}}{\frac{12}{r}} = \frac{12}{r,0} \quad \checkmark$$

(2) - 6

$$\log_{17}^{17} = \frac{\log_{17}^{17}}{\log_{17}^{17}} = \frac{\log_7^r + \log_3^r}{\frac{r}{r}} = \frac{\frac{r}{c} + \frac{r(m-1)}{r}}{\frac{r}{r}} = \frac{\frac{rm+r}{r}}{\frac{r}{c}} = \frac{rm+c}{r} \quad \checkmark$$

✓

(2)

$$\log_{17}^{17} = \log_{17}^r + \log_{17}^{r^r} = \frac{1}{r} + r \log_{17}^r = m$$

$$\log_{17}^r = \frac{m - \frac{1}{c}}{r}$$

$$\left(\frac{r}{\Delta}\right)^{rx-1} = \left(\frac{r}{\Delta}\right)^{-cx^r}$$

(r) - 8

$$-rx^r = rx - 1 \quad \log r = \frac{r}{r}$$

$$cx^r + rx - 1 = 0$$

$$x = -1 \quad x = \frac{1}{c}$$

$$9x+1 < 0$$

$$\log b = \frac{r}{r} (1 + \log r) = \frac{r}{r} (\log r + \log r) = \frac{r}{c} (\log r) = \log r$$

(r) - 9

$$\Rightarrow \log b = \log r \quad \log(r \times r - 1) = \log 100 = r$$

$$b = cr$$

$$\frac{1}{a} + \frac{1}{b} = \frac{a+b}{ab} = \frac{\frac{b}{c}}{\frac{b}{c}} = \frac{-rb}{c} = \log r$$

(r) - 10

$$ra = b + c$$

$$\frac{-ra + rc}{c} = \log r$$

$$\frac{-ra}{c} = \log r - r$$

$$\frac{ra}{c} = r - \log r = \log 100 - \log r = \log ra \Rightarrow \frac{a}{c} = \frac{1}{r} \log ra$$

$$a = \frac{b+c}{r} \rightarrow b = ra - c$$

$$\frac{1}{n_1 + n_2} = \frac{1}{S} = \frac{ra}{b} = \frac{ra}{ra - c} = \log r = \log r \rightarrow \frac{ra}{ra - c} = \log r$$

$$\frac{ra - c}{ra} = \log r \rightarrow 1 - \log r = \frac{c}{ra} \rightarrow r - \log r = \frac{c}{a}$$

$$\left(r^{-\frac{1}{a}}\right)^{\frac{c}{a}} = \left(r^{\frac{c}{a}}\right)^{\frac{1}{a}} = \left(r^{r - \log r}\right)^{\frac{1}{a}} = \left(\frac{r}{100}\right)^{\frac{1}{a}} = \frac{1}{r} = \boxed{\sqrt{a}}$$